MODIFICATION # 13 TO CONTRACT NUMBER 2001-035 BETWEEN THE COMMONWEALTH OF VIRGINIA AND MOTOROLA, INC.

This MODIFICATION #13 is an agreement between the Commonwealth of Virginia through its Department of State Police, hereinafter referred to as "State" or "Commonwealth," and Motorola, Inc., hereinafter referred to as "Motorola," which modifies Contract Number 2001-035 (the "Contract") between the parties. This Modification #13 is hereby incorporated into and made an integral part of the Contract effective July 13, 2004. This Modification will be effective as of the last date signed below.

The purpose of this Modification #13 is to increase the Contract Price to: (1) pay for the costs of additional Crash-Trucks utilized while performing installation work in the Elizabeth River Downtown Tunnel, as required by the Virginia Department of Transportation ("VDOT"); (2) provide 213 additional disguised Subscriber antennas on select vehicles for the Department of State Police ("VSP") and other agencies; and (3) pay for temporary power costs at twelve (12) of the twenty (20) Division One Sites, provided by Motorola.

Both parties agree to the following:

1. Description of Crash-Truck Requirement.

A. Overview.

VDOT has required two (2) additional Crash-Trucks for each lane that must be closed to vehicular traffic during work performed at the Elizabeth River Downtown Tunnel, even though only one (1) Crash-Truck is required per lane closure, at the five (5) other tidewater tunnels. The Crash-Trucks provide a safety barrier for tunnel workers in the lanes leading up to and inside the tunnel. Motorola has rented two (2) Crash-Trucks for five (5) additional days and drivers were supplied by Motorola's subcontractor, Powerwave, in order to meet this new VDOT requirement.

B. Modification of Contract Price.

For the additional services provided by Motorola, as described in Section 1.A., \$26,557.00 is added to the Contract Price.

Modification # 13 Contract 2001-035 Page 1 of 10

2. <u>Description for the Purchase of Additional Disguised Subscriber Antennas.</u>

A. Overview.

The Commonwealth has requested 213 additional disguised Subscriber antennas on select vehicles for the VSP and other agencies as detailed in Attachment A, which is attached hereto and fully incorporated herein.

B. Modification of Contract Price.

For the additional disguised Subscriber antennas to be provided by Motorola, as described in Section 2.A., \$57,183.00 is added to the Contract Price.

3. Description of Temporary Power and other Rework

A. Overview.

The Commonwealth is contractually required to provide commercial power to Sites. When construction was complete for the twenty (20) Sites listed in Section 3.B., Motorola provided generators, fuel, maintenance, and tank reworks to ensure temporary power until commercial power was available at twelve (12) sites.

B. Modification of Contract Price.

For the additional equipment and services provided by Motorola, as described in Section 3.A., \$119,342.91 is added to the Contract Price.

Site No.	Site	Temporary Generators and Fuel	Propane Refills	*Maintenance Costs	**Tank Reworks	Total
1102	1ST. DIVISION HQ					\$0.00
1103	PETERSBURG AO					\$0.00
1106	LOUISA AO					\$0.00
1108	POWHATAN REPEATER				\$6,520.00	\$6,520.00
2106	RUMFORD		\$2,106.88	\$ \$2,874.63		\$4,981.51
1311	LEIGH MTN	\$10,850.54				\$10,850.54
1104	WEST POINT AO					\$0.00
1105	WARSAW AO	\$9,889.71				\$9,889.71
1204	GORDONSVILLE					\$0.00
	REPEATER					\$0.00
1307	CUMBERLAND REP					\$0.00
1503	WILLIAMSBURG				\$10,434.00	\$10,434.00
	REPEATER					
1504	WAVERLY REPEATER	\$9,280.50				\$9,280.50
1505	EMPORIA REPEATER		\$2,350.69	\$2,344.98		\$4,695.67
	AO					
3312	LUNENBURG	\$9,831.06	\$12,716.92	\$7,549.24		\$30,097.22
1511	BRUNSWICK CC	\$817.65				\$817.65

Site No.	Site	Temporary Generators and Fuel	Propane Refills	*Maintenance Costs	**Tank Reworks	Total				
2104	THORNBURG	\$6,120.70	\$9,461.87	\$2,874.63	\$8,775.00	\$27,232.20				
2105	BOWLING GREEN VDOT	\$8,958.27				\$8,958.27				
1101	STATE POLICE HQ		\$16,613.79	\$2,701.72		\$19,315.51				
1205	FORK MOUNTAIN REP					\$0.00				
1303	SOUTH HILL AO					\$0.00				
	Subtotals	\$55,748.43	\$43,250.15	\$18,345.20	\$25,729.00	\$143,072.78				
			(One (1) Motorola '	Worker Week	\$6,000.00				
Total										
Negotiated Discount = 17%										
Final Negotiated additional discount										
	Modification Section 3A Total									

^{*}Maintenance Costs include the run time service for every 200 hours.

The costs are for the labor and material to perform this work. The Williamsburg site was problematic in that the compound is so tight that the excavation had to be done by hand and not by machinery.

Note: In the future, whenever there is a cost adjustment due to re-work or generator issues, Motorola will advise the Commonwealth of a cost estimate in advance and provide any alternatives if known. Motorola will wait for written authorization from either the STARS PD or PCO before any additional cost work is started. The Commonwealth may complete the work at their option.

4. Contract Price Adjustments.

\$329,673,699.00	Original Contract Value:
(\$1,540,046.39)	Amount of Previous Modifications numbered 1 through 8 ¹
Pending	Amount of Modifications numbered 9, 10, 11, and 12:
\$588,931.34	Modification #14
\$203,082.91	This Modification #13:
\$328,925,666.86	New Contract Price:

5. Completion Date Adjustments.

Ν	on	e.
---	----	----

_

^{**}Tank Rework Requirements: The original design had the buried and secured propane tank being place in and surrounded by sand. At three sites requiring the Tank Rework, all were found to have an exceptional high water table. During times of rain, this resulted in the sand containing the water. Water in the sand prevented the propane regulator from capturing the required air to allow the gas to flow. Pyramid Network Services then, with Motorola's approval, dug out the tank and removed all sand. The required excavation was 5 feet outside the tank. The fill was discarded and replaced with pea gravel. This then allowed the regulator to capture air required for gas flow. All of this was outside the original scope of the Contract.

¹ Modification #8 was cancelled by the Commonwealth.

6. Milestone Payments.

In accordance with this Modification #13, the Contract Milestone Payment for the equipment and services described herein is as follows:

MONTH AND	MILESTONE NAME	CONTRACT MILESTONE	MODIFICATION NO. 13	TERMS
QUARTER		141122010142	MILESTONE	
April, Q2 '06	Modification #13	N/A	\$203,082.91	Due in full upon
				execution of
				Modification #13

The foregoing is the complete and final expression of the parties' agreement to modify Contract 2001-035 and cannot be modified, except by a writing signed by duly authorized representatives of both parties. If there are any inconsistencies between the provisions of this Modification #13 and the provisions of the Contract, the provisions of this Modification #13 will prevail.

ALL OTHER TERMS AND CONDITIONS OF THE CONTRACT REMAIN UNCHANGED AND SHALL REMAIN IN FULL FORCE.

PERSONS SIGNING THIS CONTRACT MODIFICATION ARE AUTHORIZED REPRESENTATIVES OF EACH PARTY TO THIS CONTRACT AND ACKNOWLEDGE THAT EACH PARTY AGREES TO BE BOUND BY THE TERMS AND CONDITIONS OF THIS CONTRACT MODIFICATION.

COMMONWEALTH OF VIRGINIA Department of State Police
BY: (Signature on File) Colonel W. Steven Flaherty Superintendent
DATE: <u>_6/29/06</u> BY:(Signature on File)
Patricia T. Trent, CPPB, VCO Procurement and Contract Officer
DATE: <u>6/28/06</u>

ATTACHMENT A TO MODIFICATION #13 2

Year	Make	Model	Quantity	Vehicle-specific PRT Number	Antenna Type	Quoted Per Unit Cost	Extended Cost					
	WOD											
2001	CHEVY	IMPALA	1	VSP These systems run in conjunction with the fender mount.	DMAK-1-HF/VHF	\$195.00	\$195.00					
2002	CHEVY	IMPALA	2		DMAK-1-HF/VHF	\$195.00	\$390.00					
2004	CHEVY	IMPALA	2		DMAK-1-HF/VHF	\$195.00	\$390.00					
2005	CHEVY	IMPALA	1		DMAK-1-HF/VHF	\$195.00	\$195.00					
2004	DODGE	INTREPID	1		DMAK-1-HF/VHF	\$195.00	\$195.00					
1998	FORD	CROWN VICTORIA	1		DMAK-1-HF/VHF	\$195.00	\$195.00					
1999	FORD	CROWN VICTORIA	1		DMAK-1-HF/VHF	\$195.00	\$195.00					
2000	FORD	CROWN VICTORIA	1		DMAK-1-HF/VHF	\$195.00	\$195.00					
			10									
1999	AUDI	A-4	1	DMA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2001	BUICK	CENTURY	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2005	BUICK	CENTURY	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2000	BUICK	REGAL	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2001	CHEVY	ASTRO VAN	1	CAV-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2002	CHEVY	ASTRO VAN	1	CAV-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2003	CHEVY	ASTRO VAN	1	CAV-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2000	CHEVY	C60	1	DMA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2001	CHEVY	IMPALA	2	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00					
2002	CHEVY	IMPALA	3	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00					
2003	CHEVY	IMPALA	1	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					
2004	CHEVY	IMPALA	4	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$972.00					
2005	CHEVY	IMPALA	5	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$1,215.00					
1997	CHEVY	LUMINA	1	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00					

.

² This Subscriber List includes original request and added items, based upon Revision #7 provided by Commonwealth representative, M. Deane.

Year	Make	Model	Quantity	Vehicle-specific PRT Number	Antenna Type	Quoted Per Unit Cost	Extended Cost
1998	CHEVY	LUMINA	3	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2001	CHEVY	MALIBU	1	GMB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1997	CHEVY	MONTE CARLO	1	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	CHEVY	MONTE CARLO	1	LU4-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2000	CHEVY	SAVANNA 3/4T	1	GCV-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1996	CHEVY	TAHOE	1	GSB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2005	FORD	EXPEDITION	3	FTB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2003	CHEVY	TAHOE	4	GSO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$972.00
2004	CHEVY	TAHOE	1	GSO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1995	CHEVY	VAN	1	GGV-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	DODGE	DURANGO	1	CDR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1999	DODGE	INTREPID	1	CVC-SB-VHF_DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2001	DODGE	INTREPID	1	CVC-SB-VHF_DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	DODGE	INTREPID	1	CVC-SB-VHF_DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2004	DODGE	INTREPID	9	CVC-SB-VHF_DS	DMA-SB-VHF-DS	\$243.00	\$2,187.00
2003	DODGE	STRATUS	3	CS2 / CS4 -SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
1997	DODGE	VAN	1	CRV-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1996	FORD	AEROSTAR	1	FAV-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1997	FORD	CROWN VICTORIA	2	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00
1998	FORD	CROWN VICTORIA	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1999	FORD	CROWN VICTORIA	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2001	FORD	CROWN VICTORIA	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	FORD	CROWN VICTORIA	4	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$972.00
2004	FORD	CROWN VICTORIA	9	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$2,187.00
2005	FORD	CROWN VICTORIA	2	FCC-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00
2006	FORD	CROWN VICTORIA	1	FCQ-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	FORD	E-150 VAN	1	FEC-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2004	FORD	E-250 VAN	2	FEC-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00
2002	FORD	E-350	1	FEC-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	FORD	E-350	1	FEC-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	FORD	EXCURSION	1	F35-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2004	FORD	EXCURSION	1	F35-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00

Modification # 13 Contract 2001-035 Page 6 of 10

Year	Make	Model	Quantity	Vehicle-specific PRT Number	Antenna Type	Quoted Per Unit Cost	Extended Cost
1997	FORD	EXPEDITION	1	FTB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2000	FORD	EXPEDITION	1	FTB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2001	FORD	EXPEDITION	1	FTB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2004	FORD	EXPEDITION	1	FTB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1999	FORD	MUSTANG	1	FMG-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	FORD	MUSTANG	2	FMG-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00
1998	FORD	TAURUS	1	FST-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1999	FORD	TAURUS	3	FST-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2000	FORD	TAURUS	1	FTR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2001	FORD	TAURUS	1	FTR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	FORD	TAURUS	3	FTR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2004	FORD	TAURUS	1	FTR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1999	MERCURY	MARQUIS	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	MERCURY	MARQUIS	2	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00
2003	MERCURY	SABLE	1	FST-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1999	NISSAN	MAXIMA	1	DMA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2003	NISSAN	ALTIMA	1	DMA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2005	NISSAN	ALTIMA	1	DMA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2000	OLDS	INTRIGUE	2	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00
2001	OLDS	INTRIGUE	1	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2002	OLDS	ALERO	1	DMA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1999	PONTIAC	GRAND PRIX	3	GGP-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2000	PONTIAC	GRAND PRIX	3	GGP-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2002	PONTIAC	GRAND PRIX	3	GGP-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2003	PONTIAC	GRAND PRIX	2	GGP-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00
2001	PONTIAC	GRAND AM	1	GPA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2001	PONTIAC	BONNEVILLE	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2002	PONTIAC	BONNEVILLE	3	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2003	PONTIAC	BONNEVILLE	5	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$1,215.00
2004	PONTIAC	BONNEVILLE	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2000	TOYOTA	CAMRY	1	DMA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
			138				

Year	Make	Model	Quantity	Vehicle-specific PRT Number	Antenna Type	Quoted Per Unit Cost	Extended Cost						
	ABC												
1999	BUICK	CENTURY	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2005	BUICK	CENTURY	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2001	CHEVY	IMPALA	1	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2003	CHEVY	IMPALA	1	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2004	CHEVY	IMPALA	3	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00						
2005	CHEVY	IMPALA	1	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
1998	CHEVY	LUMINA	1	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2000	CHEVY	LUMINA	1	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2001	CHEVY	LUMINA	1	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2001	CHEVY	MALIBU	1	GMB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2004	DODGE	INTREPID	2	CVC-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00						
1999	FORD	CROWN VICTORIA	2	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00						
2005	FORD	EXCURSION	3	F35-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00						
2001	FORD	EXPLORER	1	FEP-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
1997	FORD	TAURUS	1	FST-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2000	FORD	TAURUS	1	FTR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2001	FORD	TAURUS	2	FTR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00						
2004	FORD	TAURUS	2	FTR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00						
2003	MERCURY	GRAND MARQUIS	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2004	MERCURY	GRAND MARQUIS	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2005	MERCURY	GRAND MARQUIS	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2004	MERCURY	SABLE	1	FST-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2004	PONTIAC	BONNEVILLE	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2005	PONTIAC	BONNEVILLE	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
2004	PONTIAC	GRAND AM	3	GPA-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00						
2000	PONTIAC	GRAND PRIX	1	GGP-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						
			36										
				DMV									
2000	BUICK	REGAL	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00						

Modification # 13 Contract 2001-035 Page 8 of 10

Year	Make	Model	Quantity	Vehicle-specific PRT Number	Antenna Type	Quoted Per Unit Cost	Extended Cost
2002	BUICK	REGAL	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2000	CHEVY	IMPALA	1	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2001	CHEVY	LUMINA	1	GMO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2000	DODGE	STRATUS	3	CS2 / CS4 -SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$729.00
2000	GMC	VAN	1	GCV-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2004	MERCURY	GRAND MARQUIS	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2005	PONTIAC	BONNEVILLE	1	GGP-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1993	PONTIAC	GRAND PRIX	1	GP2 (or GP4) (2/4 door) SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
			11				
	•						
				DGIF			
1998	FORD	EXPEDITION	1	Please verify year = N/A prior to 2000	DMA-SB-VHF-DS	\$243.00	\$243.00
1998	CHEVY	3/4T PU	1	GSB-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2001	DODGE	DURANGO	1	CDR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1996	DODGE	RAM 1500 PU	1	CRT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
			4				
				MRC			
2005	CHEVY	TAHOE	1	GSO-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
		1		VSP	T		
2002	CHEVY	IMPALA	1		DMAK-1-HF/VHF	\$195.00	\$195.00
2002	CHEVY	CAMARO	1		DMAK-1-HF/VHF	\$195.00	\$195.00
			2				
	T	T	T	T =	T		
2002	CHEVY	IMPALA	2	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00
2004	CHEVY	IMPALA	1	GIT-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00
2005	CHEVY	CLASSIC	1		DMA-SB-VHF-DS	\$243.00	\$243.00
2004	DODGE	INTREPID	1	CVC-SB-VHF_DS	DMA-SB-VHF-DS	\$243.00	\$243.00
1999	FORD	CROWN VICTORIA	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00

Modification # 13 Contract 2001-035 Page 9 of 10

Year	Make	Model	Quantity	Vehicle-specific PRT Number	Antenna Type	Quoted Per Unit Cost	Extended Cost			
2003	FORD	CROWN VICTORIA	1	FCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00			
2006	FORD	CROWN VICTORIA	2	FCQ-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$486.00			
2000	FORD	TAURUS	1	FTR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00			
2004	PONTIAC	BONNEVILLE	1	GCR-SB-VHF-DS	DMA-SB-VHF-DS	\$243.00	\$243.00			
			11							
						SUBTOTAL	\$51,183.00			
	***One Motorola Worker Week \$6,000.0									
					Modifica	tion #13 Total	\$57,183.00			

^{***}Motorola purchased the disguised antennas AT COST for STARS. There was no mark up on the material since it was a matter of expediency to receive the antennas and not stop vehicle installations. The Motorola mantime cost is for researching the types of vehicles, types of antennas to go on the specific vehicle, obtain a final quotation, cut a purchase order to pay for them, inventory the antennas when they arrived and pay the supplier. All of these activities/services were out of scope of the Contract.